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1(&38) 2(KEY) 3(K) 4(FREY) 5(8) ==

B[R] 2,473 180 19 246 142 58 3,060
SRR 602 79 4 55 84 22 824
aF= 789 64 8 52 93 24 1,006
=R 1,956 156 8 130 279 101 2,529
AR 632 42 1 27 52 4 754
LR 955 56 3 25 94 27 1,133
mEE 1,864 212 8 151 211 52 2,446
KR 3,438 231 21 286 429 134 4,405
N 2,285 117 2 122 243 80 2,769
HER 3,022 158 13 176 334 95 3,703
BEE 10,437 475 20 893 2,140 637 13,965
FEE 7,525 398 27 698 1,096 457 9,744
RRED 19,234 304 315 862 2,448 1,249 23,163
fESNS 11,888 333 42 751 2,125 872 15,139
Hino i 1,921 178 5 122 226 73 2,452
2R 985 71 7 45 92 18 1,200
alllR 1,209 56 2 86 118 36 1,471
BHE 813 48 2 38 80 13 981
LIS 949 35 6 39 97 19 1,126
REFE 1,880 122 9 115 261 84 2,387
I RIS 2,146 121 8 102 254 61 2,631
EEIR 3,984 256 12 227 611 186 5,090
BHIR 9,921 480 9 587 1,213 407 12,210
=ER 1,684 108 11 85 316 71 2,204
BER 1,225 110 1 59 187 57 1,582
RERRT 2,282 149 4 154 389 187 2,978
ABRAT 8,942 609 72 1,015 1,281 574 11,919
"ER 5,395 246 23 271 662 266 6,597
ZRE 1,244 66 2 83 133 28 1,528
AL 731 63 3 76 121 18 994
SWE 488 34 0] 15 68 17 605
ERE 494 22 0 21 77 9 614
A L= 1,568 187 10 122 233 80 2,120
LBE 2,356 224 26 178 470 169 3,254
Hijm[= 1,081 82 4 94 186 25 1,447
e 548 34 1 33 87 25 703
&HIIE 825 61 9 49 109 44 1,053
BER 831 59 1 46 199 60 1,136
=R 437 28 2 17 98 25 582
ERR 4311 283 25 381 624 235 5,624
EER 429 51 0 57 91 25 628
RIBE 739 48 2 28 171 46 988
HEARIR 967 107 3 74 113 25 1,264
AHE 697 54 2 44 143 38 940
=IFE 589 64 1 39 112 15 805
BREE 801 70 1 60 126 36 1,058
RIS 245 1 3 7 40 20 296
tT=4 0 0 0 0 0 0 0

a&t 129,817 6,932 757 8,843 18,758 6,804 165,107
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B[R] 1,838 126 6 165 114 43 2,249
SRR 504 52 4 34 76 18 670
aFR8 651 35 0] 40 84 22 810
=R 1,552 96 6 92 245 85 1,991
AR 532 31 1 14 50 4 628
LR 777 37 1 18 84 23 917
mEE 1,546 146 3 119 188 44 2,002
KR 2,795 159 18 217 373 103 3,562
N 1,870 78 0 96 220 68 2,264
HER 2,453 110 12 132 289 72 2,996
BEE 8,408 357 8 681 1,896 526 11,350
FEE 6,005 297 17 564 968 400 7,851
RRED 15,450 211 266 674 2,173 1,100 18,774
fESNS 9,738 246 9 603 1,912 766 12,508
Fins 1,590 124 1 89 201 64 2,005
2R 793 44 4 30 77 14 948
alllR 970 40 1 62 99 27 1,172
BHE 626 38 1 27 67 10 759
LLBR 776 29 5 35 80 11 925
REFE 1,494 72 2 90 238 72 1,896
I RIS 1,729 74 4 79 218 50 2,104
EEIR 3,257 162 11 149 548 154 4,127
BHE 7,684 346 0] 432 1,073 331 9,535
=ER 1,345 70 5 64 276 62 1,760
BER 1,040 52 0 31 171 47 1,294
RERRT 1,878 101 2 98 328 139 2,407
ARRAT 7,291 420 52 770 1,069 460 9,602
"ER 4,378 161 8 186 575 219 5,308
ZRE 996 45 0 59 112 18 1,212
AL 577 51 1 52 106 12 787
SWE 385 24 0] 13 58 12 480
ERE 428 15 0 18 72 9 533
A L= 1,226 131 6 65 206 62 1,634
LBE 1,843 153 21 103 427 146 2,547
Hijm[= 862 57 2 75 163 19 1,159
e 446 24 1 21 73 19 565
&HIIE 630 33 2 39 99 41 803
BER 667 39 0 35 179 45 920
=R 357 15 1 10 91 24 474
ERR 3,298 162 7 247 543 195 4,257
EER 371 19 0 41 81 19 512
RIBE 623 31 0 22 151 36 827
HEARIR 724 69 0] 48 93 18 934
AHE 550 33 O] 23 119 32 725
=IFE 480 35 0 25 100 12 640
BREE 664 38 0 37 110 31 849
RIS 185 1 0] 6 36 18 228
tT=4 0 0 0 0 0 0 0

a&t 104,282 4,689 488 6,530 16,511 5,702 132,500




